SunFire [Blending Model]		Prepared by Keval Mehta


Question : SunFire Petroleums produces two types of fuels from 3 different types of oils. Cost and availability of oils is given in the Excel Sheet. Fuel type A should include at least 30% from oil 1, at most 50% from oil 2 and at least 30% from oil 3. Fuel type B should include at most 30% from oil 1, at least 50% from oil 2 and at most 30% from oil 3. Selling price of fuel type A is 1.1$ and Fuel B is 1.2$. At least 10000 litres of both the Fuel types must be produced. Determine the maximum profit SunFire can make.  
Also, use the Solver Table to determine the increase/decrease in my profit if the minimum production of fuel type B is decreased to 9000 litres.

[bookmark: _GoBack]Model : 
i ∈ {A, B}
j ∈ {1, 2, 3}

Parameters:
i ∈ {A, B}
j ∈ {1, 2, 3}
Pi: Selling price for a unit of fuel i
Cj: cost of oil j per litre
Uij: Usage of oil j in Fuel i
Mi: Minimum production required for fuel i

 Decisions:
Xij: Litres of Oil type j to be used for Fuel type i 


Objective:
Maximize  
Constraints:
 
 
 


[image: ]Excel Solution : The following solution is obtained using Excel Solver:
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1 Typeofoil Availability (Litres) Used FuelType  OilType _Used Usage Limit
2] 1 6000 >= 6000 A 1 > 3000
3] 2 10000 >= 10000 2 < 5000
4| 3 12000 >= 4000 3 > 3000
5|
6| ] 1 < 3000
7| Typeofruel sell. price ($/litre) Min Production production 2 >= 5000
8| A 11 10000 < 3 < 3000
9| ] 12 10000 <
10|
1|
12| Revenue 23000
13| cost 7720
14
5| proft [ sisamoo
16|
17
18|
19
20 If minimum production of fuel B is decreased to 9000 litres, the profit would decrease to 14560$





